Fort Bend County Tabulation							
Quote 2020-20 Fresh Produce							
April 1, 2020- June 30,2020							
	Brothers Produce						
FRESH VEGETABLES Description Lawson # 14132	Estimated Monthly Usage	Unit	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	* "We certify this product was processed in the U.S. and contains over 51% of its agricultural food component, by weight or volume, from the U.S. Vendors are required to Provide "Percentage of U.S. Agricultural Food Component as provided in 7 CFR 210.21(d)	
CABBAGE, GREEN; Packaging: 50 LB Bag Vendor to input below ▼: \$Cost/Lb.	100	Pound	11.5000	\$1,150.00		Yes	
Packaging: 36 1's Box Vendor to input below ▼: \$Cost/Lb.	5	Bunches	No Bid	#VALUE!		Yes	
Packaging: 1 lb bag Vendor to input below ▼: \$Cost/Lb.	5	Bunches	No Bid	#VALUE!		Yes	
Packaging: 54 count case Packaging: 54 count case Vendor to input below ▼: \$Cost/Lb.	2	Cases	No Bid	#VALUE!		Yes	
Packaging: 54 count case Packaging: Unwrapped 24 1's Vendor to input below ▼: \$Cost/Lb.	1	Case	No Bid	#VALUE!		Yes	
LETTUCE, 4-WAY, 70/20%: Packaging: 4/5lb Vendor to input below ▼: \$Cost/Lb.	9	Cases	16.5000	\$99.00		Yes	
LETTUCE, ROMAINE CHOPPED: Packaging: 6bags of 2lbs each. 12lb case/box Vendor to input below ▼: \$Cost/Lb.	72	Pounds	15.0000	\$1,080.00		Yes	
LETTUCE, SHREDDED ICEBURG Packaging: Vendor to input below ▼: \$Cost/Lb.	2	Cases	14.5000	\$29.00		Yes	

			Vendor N	Name:		
FRESH VEGETABLES Description Lawson #14132	Estimated Monthly Usage	Unit	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	"We certify this product was processed in the U.S. and contains over 51% of its agricultural food component, by weight or volume, from the U.S. Vendors are required to Provide "Percentage of U.S. Agricultural Food Component as provided in 7 CFR 210.21(d)
ONIONS, YELLOW: Packaging: 50 LB Bag Vendor to input below ▼: \$Cost/Lb.	50	Pounds	17.5000	\$875.00		Yes
PEPPERS, BELL, MEDIUM: Packaging: LB Box Vendor to input below ▼: \$Cost/Lb.	10	Pound	1.5000	\$15.00		N/A, Mexico
POTATO #2, IDAHO RUSSET: Packaging: 50 LB Box/Bag Vendor to input below ▼: \$Cost/Lb.	100	Pound	16.5000	\$1,650.00		Yes
POTATO #1, IDAHO 100's: Packaging: 50 LB Box/Bag (Baking Potatoes) Vendor to input below ▼: \$Cost/Lb.	100	Pound	19.5000	\$1,950.00		Yes
POTATO, RED: Packaging: 50 LB Sack Vendor to input below ▼: \$Cost/Lb.	200	Pound	NA	#VALUE!		NA
TOMATOES, 5X6, OR ASSORTED (CHEAPER): Packaging: 25 LB Box Vendor to input below ▼: \$Cost/Lb.	850	Pound	18.5000	\$15,725.00		N/A
TOMATOES, CHERRY: Packaging: 12 LB Case Vendor to input below ▼: \$Cost/Lb.	48	Pound	20.0000	\$960.00		N/A, Mexico
CARROTS, BABY: Packaging: 30/1 LB Vendor to input below ▼: \$Cost/Lb.	9	Cases	24.0000	\$144.00		Yes
SPINACH: Packaging: 2 LB Bags Vendor to input below ▼: \$Cost/Lb.	12	Pound	4.0000	\$48.00		Yes

			Vendor Name:		Brothers Produce Inc.	
FRESH VEGETABLES Description Lawson #14132	Estimated Monthly Usage	Unit	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	"We certify this product was processed in the U.S. and contains over 51% of its agricultural food component, by weight or volume, from the U.S. Vendors are required to Provide "Percentage of U.S. Agricultural Food Component as provided in 7 CFR 210.21(d)
BROCCOLI FLORETS Packaging: 3 LB BAGS Vendor to input below ▼: \$Cost/Lb.	12	Pounds	3.5000	\$42.00		N/A, Mexico
JICAMA Packaging: 10 LB Bags Vendor to input below ▼: \$Cost/Lb.	30	Pounds	10.0000	\$300.00		N/A, Mexico
Cucumbers: 5LB Bag Vendor to input below ▼: Packaging	24	Each	7.5000	\$180.00		N/A, Honduras

			Vendor Name:		Brothers Produce Inc.		
FRESH FRUIT Description Lawson #14132	Estimated Monthly Usage	Unit	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	"We certify this product was processed in the U.S. and contains over 51% of its agricultural food component, by weight or volume, from the U.S. Vendors are required to Provide "Percentage of U.S. Agricultural Food Component as provided in 7 CFR 210.21(d)	
APPLES, RED DL: Packaging: 125 or 138 (40 LB Small) whichever is cheaper Vendor to input below ▼: \$Cost/Lb.	9	Cases	31.0000	\$186.00		Yes	
AVACADOS, HAAS: Packaging: 35 1's Vendor to input below ▼: \$Cost/Lb.	2	Case	55.0000	\$110.00		N/A, Mexico	
BANANAS, STAGE 4: Packaging: 40 LB Box Vendor to input below ▼: \$Cost/Lb.	15	Cases	18.5000	\$277.50		N/A, Guatemala	
LEMONS: Packaging: 200 1's (or 235 1's) Vendor to input below ▼: \$Cost/Lb.	20	Each	32.0000	\$640.00		Yes	
ORANGES: Packaging: 38 LB Box, (113 TO 138 count, cheapest) Vendor to input below ▼: \$Cost/Lb.	8	Cases	24.0000	\$192.00		Yes	
PEARS, Bartlett: Vendor to input below ▼: Packaging	8	Cases	42.0000	\$336.00		Yes, Bartlett or Anjou	
CANTALOUPE: Vendor to input below ▼: Packaging	9	Cases	21.0000	\$126.00		N/A, Guatemala/Honduras	
WATERMELONS, Seedless: Vendor to input below ▼: Packaging	24	Each	9.5000	\$228.00		N/A, Mexico	